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The ratio of the efficiencies of A, Band Cis2:5
: 3. Working together, they can complete a work

4
in 27 days. B and C together can complete 9 th

part of that work in :

A, B 3R C & 3&rarstl &1 399 2 : 5 : 331 Tk 9
FTH H q{é?ﬁﬁﬁ27ﬁﬂ’fﬁ{ﬂﬁ¥lﬁ%l83ﬂi

Caﬁ—«l‘fﬁqum\ai éﬂmﬁmﬁﬁﬁlﬁt@
. }\‘

T2

(1) 27 days/ﬁ:ﬁ 5 %) 15 days/feii &

(3) 17 ; days /el (4) 24 days /T |
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The ratio of the efficiencies of A, Band Cis 7:5
: 4. Working together, they can finish a work in
35 days. A and B work together for 28 days. The
remaining work will be completed (in days) by C
alone:
A, BTS C &1 FEged &l 39 7 : 5 : 4 81 oAl Th
o o TRt fRE #m w35 f § W w1t W €
\\:}“\\ ATd BUs 91 28 9 &m [ 21 99 HH C R
TN s TR A § www fRa S 2
%1) 56 (2) 63 (3) 49 (4) 60




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The ratio of the efficiencies of A, Band Cis 7 : 5
: 8. Working together, they can complete a piece
of work in 42 days. B and C worked together for
21 days and the remaining work was completed
by A alone. The whole work was completed in :

A, B 3R C &1 3eraietl &1 399 7 : 5 : 8 B Tsh @Y

faeet o fordt & =1 42 i § g0 9= °96d €1 B 3R

CH 21 fcaf 9 T 9y &M foran 3R 99 &4 A 3

\.\\\ 3ehel QU fohaml ™ &l qU M H ok 9wa onm ?
\\ (1) 96 days/f<A (2) 99 days /T
) 102 days /<A (4) 93 days /T
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The efficiencies of A, B and C are in the ratio 2 :
5 : 3. Working together, they can complete a task

in 9 days. In how many days will C alone com-
plete 40% of that task?

A, B 3R C & Sefareti =1 19 2 : 5: 321 9 Al T
F1 it T T et 9 feal & 9 9% ¥hd €)1 C ohd
39 &M h 40% 9T I fead fai  qu wam?

1) 14 2) 16 3) 15 12
(1) (2) ®15 @

R
;f/‘/
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To do a certain work, the ratio of efficiency of A
to that of B is 3 : 7. Working together, they can

1
complete the work in 105 days. They work to-

gether for 8 days. 60% of the remaining work will
be completed by A alone in :

el & & HE o fAU, A 3R B HT &War 1 39
3:7% TH @ wE wH W, 9 A e 3@ wE

Co) 10%@&@%%%%%%8@%
%14 Fd 21 99 w1 & Bogl/aﬁrﬁﬁAa&wé‘i EXERES

; 2 N
H T 91U SN
B - L
(1) 55 days /<A A\! 5 days /<A
(3) Bi days /<A (4) 4 days /<=

=2
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To do a certain work, the ratio of the efficiencies
of X and Y is 5 : 4. Working together, they can
complete the same work in 10 days, Y alone starts
the work and leaves after 5 days. The remaining
work will be completed by X alone in :

frdt = &1 FE & faC, X SR Y S &9ar &1 A9
5: 42 Tk WY et M &6 W), 9 A 39 FHH H
10 f&Af o 90 T Gehd €1 Y SThel HE IPE Ll @ R
5 fel & 1% Big a1 €1 99w H X bl fopad feAt
H qq ? SRIP
25w B%1) 14 days/f (2) 12 days /T
9?')' (3) 15 days/f (4) 10 days/f
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A is as efficient as B and C together. Working
together A and B can complete a work in 36 days
and C alone can complete it in 60 days. A and C
work together for 10 days. B alone will complete
the remaining work in :

A 3Tehell a1 &1 g8 ¢ fSied f B iR C, <1 fiyersn
Y TRt ®™ i 8T A 3R B fRdt & i 36 f&Al
T @ i € R C 2ohet SHt & i 60 Al &
Thdl 21 A 3R C M1 fgeret 10 & 9% = & 2
B 99 %1 i 3Tehel fohad &9 & qU &m ?

—~

23— e ® (1) 110 days/f (2) 88 days /T
“¥  (3)84days/f (4) 90 days /T
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A is 40% more efficient than B and C is 20% less
efficient than B. Working together, they can finish
a work in 5 days. In how many days will A alone
complete 70% of that work?

B! o § A 40% 3Afeeh 381 © 921 B! ol § C
20% 1 & T Tk WY faerwt 7 G+ foreht 1 =i 5

fel & 90 % B1 A eTohel € 3H FH HT 70% R Al
o qU &am?
(1)9 (2) 7 (3)10 48

Py 8

e
;/74/
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A is 50% more efficient than B and C is 40% less
efficient than B. Working together, they can
complete work in 10 days. In how many days will
A alone complete 150% of that work?

B &1 o § A 50% 314 3861 8, 3R B &1 o1 | C
40% ¥ TG 2| Tk 91 & HE T, 9 qH Th H1 hl
10 f&Af & 90 9 Gehd 81 STohell A SH & &1 150%
fha feal 5 qu am?
(1) 33 (2) 35 (3) 28 ) 31

- @%l

P s
;¢‘/
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To complete a certain task. X is 40% more efficient
than Y and Z is 40% less efficient that Y. Working
together, they can complete the task in 21 days.
Y and Z together worked for 35 days. The
remaining work will completed by x alone in
Teh Hi¥=d 1 &l QU v | X, Y &l o1 H 40% 3774
% HIA © R Z, Y B g § 40% FH HIA 8| Th
g HE FHE W, 9 21 A § 98 w0 U =R g6 2
Y 3R Z faeet 35 f&Af o =@ fwan 9w %14 e
- X g frdq feai o g feman Simam?
s i1 5days/f (2) 8 days/f&
- (3) 4 days/f (4) 6 days /&




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A, B and C together can finish a task in 7.5 days.
C is thrice as productive as A and B alone can do
the task in 15 days. In how many days can A and
C do the job if B goes on leave?

A, Baen C fodt &= &1t 91 faeent 7.5 i °§ &2
THd €1 C I I §Ha A HI fAH § 3R B etahel
T4 &M & 15 &l § X gt 21 A B g2t W =l
Sl ® df A 3R C Tyt 39 & &l fohad feq §
A2

(1) 30 (2) 10 320 Q15

v 9
e
7
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The efficiencies of A, B and C are in the ratio 2 :
5 : 7. Working together they can complete a work
in 10 days. In how many days A alone complete
30% of the work?

A B3R C&Hl wE-&9a1 2:5: 7% 39 | B TH

1 kM HId gU o fh&l 6 il 10 Te7 o g0 X Hehd

g1 A 3Tohell 39 & &1 30% w1 fhad Al & 90 &

& ?

(1) 30 (2) 28 (3) 20 4) 21
4’79

1
;//l/
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1
A does half as much work as B in P of the time.

If together they take 10 days to complete a work,
how much time shall B take to do it alone?

1

B fordft & &1 foiad 999 § &% © 39S gwﬁ'A

ST HM Al | AfK B B W HH & fAC A B
el 10 57 o €, df B el 39 &M &I T 999 o

T HAM?
(1) 70 days / T (2) 30 days / f<=
@) 40 days / T (4) 50 days / f&7

—

e
;//‘/
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S, T and U together can complete a work in 30
days. If the ratio of efficiency of S, T and U is 20 :
15 : 12 respectively, then in how many days U
alone can complete the same work?

S, T e U THera & & &1 30 i o 90 X 9ehd
g1 AR S, Taen U 1 %14 FHIeldl &l S HH9T: 20
:15: 12, A U oTohell 39 &1 & fhad & § 90

THA T2\

SRS

1954 o - 235 225 215
1) —- W= 0B @
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5 men can do a piece of work in 6 days while 10
women can do it in 5 days. In how many days
can 5 women and 3 men do it ?

5 & fHdt &9 & 6 K7 § W 9 dhd T w&is 10
Afgad 38 5 7 o 90 T gkt ® | 5 Afgard den 3
ey et 39 &M &l fhdd A o qu &8 2

(1) 4 days / <A @]5days/fﬂ:f
(3)6days /T 22 ¥ (4) 8 days / T

£l
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A particular job can be completed by a team of 10
men in 12 days. The same job can be completed
by a team of 10 women in 6 days. How many days
are needed to complete the job if the two teams
work together?

TH FM 10 TEul % TH Id gR 12 faA § g fwen
ST &1 9t %1 10 forat & 5t 51 6 At & 3 R fomn

AW @ 21 afe SHl g1 ToereRt &M L d o] e forad A
gi\gxff [ A <1 g B
(1) 4 days / T (2) 6 days / <=

(3) 9 days / T&= (4) 18 days / T
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If 80 persons can finish a work within 16 days by
working 6 hours a day, the number of hours a
day, should 64 persons work to finish that very
job within 15 days is :

afs 80 =fa Tt w1 &1 6 91 fd K7 =rd e 16 Tl
@ O ®, O 64 el i g€l w15 G @
& & fau gfafed fohad =2 & & Bhm?

- (1) 5 hrs. / &2 (2) 7 hrs. / =2
ﬂ;—-—ii ®%3) 8 hrs. / ©2 (4) 6 hrs. / =2

=V
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A and B together can do a certain work in x days.
Working alone, A and B can do the same work in
(x + 8) and (x + 18) days respectively. A and B

5
together will complete 6 th of the same work in:

A T B faeat T &1 &1 x G § @ w9 g1 erehd
T Hd g4 AT B I FE FI HE: (x + 8) TH (x
+18) fs7 & g0 &Y Tohd €1 A TS B e 34t &M &

2‘14111 &1 foaq f7 5 qu +81?
(1) 9 days/feA (2) 8 days /A

(3) 10 days /&= (4) 12 days/f&A
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